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(2) 3505/(Set : A)
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T {3 -

General Instructions :

(i) & Fo7 sifard &1
All questions are compulsory.
(ii) TGS F97 % Gel ey [E)
Write the correct option in objective type questions.
(iii) & T T T 7 SfaRE [QET FT T 8
Internal choice has been provided in long answer type questions.
(iv) F9% F97 & &% I% @7 G99 T 8

Marks of each question are indicated against it.
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(3) 3505/(Set : A)

guE - A
SECTION - A [ Marks : 20
(e fom)
(Physics)
1. -3fte 3w 7 78 fem & ¥ - 1

(A) T

(B) Fihe I &y

(C) faf= 1 &t awge

(D) 3T & H13 Tl

In Hypermetropia, a person is not able to see :
(A) Distant objects

(B) Nearby objects

(C) Objects of different colors

(D) None of these

2. GIled T QA & 99 P qU1 Sqh SAEUE & H Bl TRAH Tl BN H

J& HROT HH TCT-0H & T B oo B 1

(A) T (B) STqeR

(C) SebIoi (D) ™ § ®i§ &

At the time of sunrise and sun-set, the cause of reddening of sun & its
surroundings is due to the ............. of short wave length of light.

(A) Reflection (B) Refraction

(C) Scattering (D) None of these

3505/(Set : A) P.T.O.



(4) 3505/(Set : A)
3. fEgd ool & e A T fhlare e (1 kWh) & 3 @
1

(A) 3.6 x 10° g/C §&vs

(B) 3.6 x 10° S

(©) (A) T (B) A

(D) & & Hig T

Commercial unit of electrical energy one kilowatt hr. (1kWh) is
equivalent to :

(A) 3.6x 10° Watt second

(B) 3.6x10°J

(C) Both (A) and (B)

(D) None of these

4. Tl ot Slifce otgaT TEERE TEH 7 FHa el 1
(A) S o ® (B) HE A @
(C) oTRafid & B (D) & | &g T
In any physical or chemical process, the total energy :

(A) increases (B) decreases

(C) remain unchanged (D) none of these

5. ol & oS o F &1 YT 8 § 7 2

What are the properties of a good source of Energy ?

6. U fagd ovq foraeh i 20 Q § 1 UH 8 Q WY H =ih 8 V H S 4
ol o1 A © 2

3505/(Set : A)



(5) 3505/(Set : A)
(@) URYY N FeA TicY F

(b) uRtuy § yerfed fgd amq & aReE Hif

A lamp of resistance 20 Q and a conductor of resistance 8 Q are

connected with a battery of 8 V in series. Calculate the :
(a) total resistance in the circuit
(b) current flowing through the circuit

7. O QR H TEM & U AN SHR & RS AwE d 1 @sd A enm
2

FH ITT (Reduce), I7: T (Recycle) AX T I (Reuse)l “FH IFMT”
& N foeR q R
You must have come across the three 'R's ‘to save the environment :

Reduce, Recycle and Reuse. Explain Reduce in detail.

8. (a) |9 F & T AN & ? fRE W P UH SEIEX (1D) HHA B IR
T 2

What is power of a Lens ? Define one Dioptre (1D) power of a lens.

(b) s I FIAA &I & AT F& () W Reod 21 34 ag] & e &l R,
GCIESISRIRCE NI EERERIEST 2
An object is situated at the centre of curvature (c) of a Concave
Mirror. Make a ray diagram of the position, size and nature of the

image of that object.

9. UH UAEd g &R (a. c.) S & Rwsid, €A1 Jor FEfE & faega ao
T 6

3505/(Set : A) P.T.O.



(6) 3505/(Set : A)
Explain in detail, the principle, construction and working of an

alternating current (a.c.) generator, in detail.

AYqT
OR

(a) el B8 guo & AR AR YDA & @A & FR Hiow
2

Draw the magnetic lines of force around a bar magnet.

(b) URFICRR | SMUH F AT © ? TF UReeRR § Faed fOEM 4R @
T G & B ARG HiOT IRATTRN & ST W A FhET ST

What is a Solenoid ? Draw the magnetic lines of force around a

current carrying solenoid. Also throw some light on the use of

solenoid.
gl - §
SECTION-B [ Marks : 19
(v )
(Chemistry)
10. & = 7 4 g b @ aAfifear © 7 1

(A)  FHeATET (B) HEATSIS

(C) eTw=aT (D) STF&YeT

What type of reaction Respiration is ?

(A) Exothermic (B) Endothermic

(C) Reduction (D) Precipitation

3505/(Set : A)



(7) 3505/(Set : A)
11. 30 H IR FH S € =1 & § fhg oIy T SW@ &ar 2 7 4

(A) ddErEifes (vfefae) (B) Temis (GeRT)
(C) UM (D) UdRfes (fRr)

Which one of the following medicine is used for treating Indigestion ?

(A) Antibiotic (B) Analgesic

(C) Antacid (D) Antiseptic
12. 77 & @ 50 9 § @ i1 § o1 a1 ol @ QRAE 7

(A) EEEeN (H) (B) &R (B)
(C) @ife@9 (He) (D) i (Ne)

Which of the following elements has two shells, both of which are

completely filled with electrons ?
(A) Hydrogen (H) (B) - Boron (B)

(C) Helium (He) (D) Neon (Ne)

13. = stf¥rishan & fom Eigfer Tl Hie e 2
AT FANES + YT aebe —> ARET G +
S (LR EC e S IKES
Write the balanced chemical equation for the following reaction :

Barium chloride + Aluminium sulphate

3505/(Set : A) P.T.O.



(8) 3505/(Set : A)

— Barium sulphate + Aluminium chloride

14. STERT S g ® o i el Bl STtk aw oq ofdl & ! 2

Why does distilled water not conduct electricity, whereas rain water

does ?

15. U=Sol% &l e ARON & IYERT B (el del & NFEs & g @l AgEH
qgll@lq : 2
K, C, Al, Si
Use Mendeleef's Periodic Table to predict the formulae for the oxides of

the following elements :

K, C, Al,-Si

16. €G3l & T § = &l e ST 1x4=4

Explain the following in context of metals :

(i)  STETaaed
Malleability

(ii) T
Ductility

(i) S wd fagd & geras

3505/(Set : A)



(9) 3505/(Set : A)

Conductor of heat and electricity
(iv) &+

Sonorous

17. (a) OSfFPERS q T ¥ 9 & 7 UOd O UdNEe ofd # uRadw @l
SAfereiieReeT iR a4t Ped B ? 3H% foT qEaie dHiemer |t dfvm 3

What do you mean by Oxidizing agent ? Why is conversion of
ethanol to ethanoic acid an oxidation reaction ? Give chemical

reaction also.

(b) ThIEl Th WS go B fewelt i 2
Alcohol is a clean fuel. Comment.

(c) AN F HF-HT THEHD T © ! 1
Name the functional group present in Butanone.

AYqT
OR

(@) UANTEH o @l 1 & ary stfvifher & fog wamae afieter v 0 1 x

4-4
() NaOH
(i) NaxCOs

3505/(Set : A) P.T.O.



(10) 3505/(Set : A)
(ili) NaHCOs
(iv) CHsCH>OH 37 %l 3urdfd

Give chemical equation for the reaction of ethanoic acid with

following :
(i) NaOH
(ii) Na2COs

(iii) NaHCOs3
(iv) CH3CH2OH in the presence of acid

(b) = & q B9 q eEgiwET doha oTbear 31 72
Cy,Hg,C3Hg,C3Hg,CyHy
Which of the following hydrocarbons undergo addition reaction ?

C,Hg,C3Hg,C3Hg,CoHy

gug -9
SECTION-C [ Marks : 21

(cfr o)

(Life Science)

18. frfaRad & & HH-91 Ui IR 787 & ° 1
(A) a (B) dwE

(C) @ (D) ©q

3505/(Set : A)



(11) 3505/(Set : A)

Which of the following is not a natural Ecosystem ?
(A) Forest (B) Pond

(C) Lake (D) Crop field

19. THIRY U & forw fr=ifoiaa & 4 fFad Ha-& o @i e sar & 7
(A) SfearesH (B) QM

(C) Hem (D) T8 & &I T

Copper T is placed in which of the following to prevent the pregnancy ?
(A) Oviduct (B) Vagina

(C) Cervix (D) None of these

20. fr=figd § § H9-97 UeTHRAS H 9T Jg e 7 1

(A) = (B) AgaT
() AR (D) & & %
Which of the following is not the part of hind brain ?
(A) Pons (B) Medulla
(C) Cerebellum (D) None of these
21. UfEfeE ot & F1 FH B 7 1

What are the functions of Abscisic acid ?

3505/(Set : A) P.T.O.



(12) 3505/(Set : A)
22. @Yl A% g § FHied S B T8 wWb ... Folt # 8 3d &l 1

The autotrophs capture the energy present in sunlight and convert it

23. g § =9 & usEd 89 a dRadal & ar § fafew 2

Write about the changes occur after fertilization in plants.

24. Y= el ¥ fJgsy O & IR § faiau 2

Write about the process of fission in various organisms.

25. gy dfem o fha wed € ? soa fafe gt fafaw 2

What is peripheral nervous system ? Write its various parts.

26. T & TN &R A T Il (6 QeI0T Tl oTfar e B & 7 4

How do Mendel's experiments show that traits may be dominant or

recessive ?

27. (a) WM T&I P HaIHE HIC 399 B Miiehd [ s¥BU 3

Draw a well labelled diagram of schematic sectional view of

Human Heart.

3505/(Set : A)



(13) 3505/(Set : A)
(b) &Fl qer RRT H o= T FHif 3

Differentiate between Artery and Vein.

OR

Sl & i Al wdl ) R @ avl i

Describe various pathways of glucose breakdown in organisms.

3505/(Set : A)
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Please make sure that the printed question paper are contains 27

questions.

o U97-UF H qIie7 & & T &7 T8 S T T G P HH Fav-Jkaw & FeF I
v fore
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 FYI IS H FA [IGT & BT 7 TEcT, JoT F BHI% AT @)

Before beginning to answer a question, its Serial Number must be written.
o FTCYRTH % T 7 @Il g/ G 7 8lS1

Don't leave blank page/pages in your answer-book.
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(2) 3505/(Set : B)

o FTT-gRTE # SINFT FF ST T TE AN ST FRITFEATAT & 7 ST forar
F7T T He)

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
o GHETE ST U7 To FIT-GH T ae [ra)
Candidates must write their Roll Number on the question paper.

o FYT T F IFaY 37 G g7 I GERTT IV T fF FT97 g7 7 78 & yhar &
FYUT 59 T § 23 o @ @hEre 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.
G [R5 -
General Instructions :
(i) & Fo7 Sifard &
All questions are compulsory.
(ii) TGS 97 % Tel [T [
Write the correct option in objective type questions.
(ii)) §F FTT FIT FIT F S7ARE [T F ATET 81
Internal choice has been provided in long answer type questions.
(iv) FAF F97 & 7% I0% 7T 09 T &1

Marks of each question are indicated against it.

g - A
SECTION-A [ Marks : 20

3505/(Set : B)



(3) 3505/(Set : B)

(e fomr)
(Physics)
1. el o & 99 & frecig o9 &1 e 8, 39 & f6d O &l S ¢ ]
(A) AR
(B) e
(C) (A) T (B) I
(D) T8 § P &

The cloudiness or milky condition of the crystalline lens of a person
shows which defect of the eye :

(A) Cataract

(B) Colour Blindness
(C) Both (A) & (B)

(D) None of these

2. IR & feaAfeqm & g HROT & Th o 1
(A) TRTECH (B)  ST9qce
(C) wIo (D) & & B T
Twinkling of stars is mainly due to :
(A) Reflection (B) Refraction
(C) Scattering (D) None of these

3. =1 & | % fgd sl &1 78f =i 8 ? 1
(A) P=VI

3505/(Set : B) P.T.O.



(4) 3505/(Set : B)

(B) P=V%
(C) P=I’R
(D) P=I%Rt

Which of the following do not represent electric power ?

(A) P=VI
(B) P=V%
(C) P=I’R
(D) P=I°Rt

4. 779 8 § B Foil H WRE A 7 & 7 1
(A) S "= (B) -8R s
(C) Uad Tl (D) T &/ g T

Which of the following is not a conventional source of energy ?
(A) Bio-mass (B) Solar energy

(C) Wind energy (D) None of these

5. Saie g4 H A B & 7 G989 § que i 2

What are the disadvantages of fossil fuel ? Explain in brief.

3505/(Set : B)



(5) 3505/(Set : B)
6. 400 W & %3 fgd WheRex 10 € Ufife =@m@n SIam 81 4.00 594 i fharare
g & & H 30 30 R =M § Sl Hl AR &l IR i 2

An electric refrigerator of power 400 W is allowed to run 10 hrs. per day.

What is the cost of energy to operate it for 30 days at Rs. 4.00 per kWh

?

7. A9 GO B g9M & T A9 JHR & RS Qwg F dF Egg gAr e
2

%9 IJWM (Reduce), I: T (Recycle) AR J7: IWM (Reuse)| “TT: o1 &l
g R |

You must have come across the three 'R's to save the environment :

Reduce, Recycle and Reuse. Explain Recycle in detail.

8. (a) F3 IE IUA AW B A WiHE (F) T THRH H5 (O) F 74 R &1 34
a&] & Ui & Refy, QS Jo0 9id H J@s & &) &gy 2
An object is placed at a position in between the main focus (F) and

the optical centre(O) of a convex lens. Draw a ray diagram showing

the position, size and nature of the image formed.

(b) <G & &ar F a7 7 FRH d9 # T SEieX (1D) WA R aReiNd
ot 2

What is the power of a Lens ? Define one Dioptre (1D) power of a

lens.

3505/(Set : B) P.T.O.



(6) 3505/(Set : B)
9. % fIgd MeX & Ryeid, WX qu Al & fegd oo @i 6

Explain in detail, the principle, construction and working of an electric

motor.
g
OR
(a) TRIFENT T 99 &% MO F® T P e 2

What is Fleming's left hand rule ? Explain.

(b) EA I IOT AR FAT ARWE ¢ ? A H ARG Rgd o H Rem
T B H FAET B IO-8 MG B R SWN © 7 GHIRU 4
What do you mean by electromagnetic induction ? Explain the use

of Fleming's right hand rule in finding the direction of current

induced in the conductor.
gug - §
SECTION -B [ Marks : 19
(vam= )
(Chemistry)

10. O Ud JEYH @ Q& S ARG 9 g #@ e S e 7

(A) SR ST A B

(B) SRl STTAT WA & o
(C) S el § T & o
(D) I I@ 4 &M & o

3505/(Set : B)



(7) 3505/(Set : B)

Oil and fat containing food items are flushed with nitrogen. Why ?
(A) To prevent their reduction.

(B) To prevent their oxidation.

(C) To protect them from insects.

(D) To protect them from rodents.

11. NaHCO, % Safed - &1 & 7 1
(a)  fore (B) foroi ot
(C) ST &l (D) € &1 qrer

What is common name of NaHCOg3 ?
(A) Zypsum (B) Bleaching Powder

(C) Baking Soda (D) Washing Soda

12. 77 & @ 5 9 § R A & 9o B § AP g © ¢ 1
(A) SIS (O) (B) g (N)
(C) wHA (F) (D) e (C)

Which of the following elements has twice as many electrons in its

second shell as in its first shell ?

(A) Oxygen (O) (B) Nitrogen (N)

3505/(Set : B) P.T.O.



(8) 3505/(Set : B)
(C) Fluorine (F) (D) Carbon (C)

13. 39 foaem orfvfharetll & wh-ush i fofge, PFE o1 o) ym & &9 #
Tl &N & SR B )

Write one equation each for decomposition reactions where energy is

supplied in the form of heat and light.

14. A< & TYHd B G99 T T PG B & f6 ot B ot § Pl e,
T ot @ e | 7 2

While diluting an acid, why is it recommended that the acid should be

added to water and not water to the acid ?

15. /=1 § ¥ gag T A%y BifeT : %x4=2

(i) TS SR ISR I ad - Na, Mg, Al

(i) @EH BT 9 : Li, Na, K

(iii) HoH SgET fEA RS A 9 ¢ N, O, F

(iv) §99 %A oifca® a« : Li, Be, B

Identify the most appropriate option in the following :

(i) Element with maximum valency : Na, Mg, Al

3505/(Set : B)



(9) 3505/(Set : B)

(ii)) Smallest atom : Li, Na, K
(iii Most electronegative element : N, O, F

(iv) Least metallic element : Li, Be, B

16. (i) M a1 R ™ & IR W FHifm| 2
Differentiate between Alloy and Amalgam.
(i) uffe sifufr @ R ? 3ua foru et wer dfvm 2
What is thermite reaction ? Give chemical equation for it.
17. () HgT U AHSR T & X Ry 2
Give two differences between soaps and detergents.

(i) TR AR IR T TYE I W ST p)

Define homologous series and functional group.

(i) HIW T STHI SRGHEA M o 7 2

What are saturated and unsaturated hydro-carbons ?

HAYqT

OR

3505/(Set : B) P.T.O.



(10) 3505/(Set : B)
FET & @ T BAE-9 o, BE HET ANH B T M Fer a9 S 8 7

quH FHifoT) 6

Explain two properties of carbon atom which lead to the huge number

of carbon compounds.

gug -9
SECTION-C [ Marks : 21
(Shar forstrr)

(Life Science)

18. fy=ifoifed & | f9-a7 o) I &)X W s ¢ 1

(A) e IqHiERT
(B) f&dig® U«
(C) s SR
(D) T | &g T

Which of the following come at third trophic level ?
(A) Primary consumers

(B) Secondary consumers

3505/(Set : B)



19.

20.

21.

22.

(C) Tertiary consumers

(D) None of these

@i fed gar B § ?

(A) Sisared (B)
(C) & (D)
Placenta is embedded in :

(A) Oviduct (B)
(C) Cervix (D)

ToteST fhed R erl & 7

(A)  PUA (B)
(C) uElt (D)
Spinal cord is protected by :
(A) Cranium (B)

(C) Ribs (D)

AEAHENT & F i 8 7

(11) 3505/(Set :

Qi
T H

Vagina

Uterus

FHAGHES
T 8 3 e

Vertebral column

None of these

What are the functions of cytokinins ?

Ie Foll i TR fAfehTeT SffeRiio SToett (O2) ® faefed & ...........

(YeH) = B

3505/(Set : B)
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23.

24.

25.

26.

27.

(12) 3505/(Set : B)

The higher energy UV radiations split apart some molecular oxygen into

AT fFY Fed & 7 WOREYT R WOE % SR # fafgw 2

What is Pollination ? Write about self and cross pollination.

g sie A dsd e e ? 3@ oy & SR & fofaw 2

In which organism fragmentation occur ? Write about its process.

HAEH Fo T B JAN HA H T F A SN P HEgHY S/ e BEe
% FE A g 2

Why is the use of iodised salt advisable ? Write the functions of the

hormone secreted by thyroid gland.

q+a § T8 & fo e 39 8ar 2 ? 4

How is the sex of the child determined in human beings ?

(@) b ORIl bl IO HIC H AHIb & SEU 3

Draw a well labelled diagram of cross-section of leaf.

3505/(Set : B)



(13) 3505/(Set : B)
(b) & & R & [T AMa-Grgd 7 SAftmad 89w Sl B8 SAREhead R
g? 3

How are the lungs designed in human beings to maximize the area

for exchange of gases ?

OR

qMa g5 B BEYCTE H qUH BT 6

Describe the working of human heart.

3505/(Set : B) P.T.O.
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o U97-UF H qIle7 & @ T RF T8 S T T4 G P HH Fav-Jkaw & FeF I
v ford)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 FYI IS H FA [IGT & BT 7 TEcT, JoT F BHI% AT @)
Before beginning to answer a question, its Serial Number must be written.

o FTCYRTH % diT F @Il g/ G T 8IS

Don't leave blank page/pages in your answer-book.
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(2) 3505/(Set : C)
FTCGRTH % SIIRFT F o e Ta [Aa o SRTEagar & ki@ v frar
F7T T He)
Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
TR STTT T To FOT-UH T 5739 [rg)
Candidates must write their Roll Number on the question paper.

FYT T F FAT 37 G g7 I8 GERTT I T [ FT9T g7 7 78 & g &
FYUT 59 T § 23 o @ @hEre 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T {3 -

General Instructions :

(i) &# Fo7 sifard &1
All questions are compulsory.
(ii) TGS F97 % TEl [dwey [
Write the correct option in objective type questions.
(iii) @ FT a7 F9 F SAARE [T B T &
Internal choice has been provided in long answer type questions.

(iv) FAF F97 B 7% FTF G709 T &

Marks of each question are indicated against it.

qig -
SECTION - A [ Marks : 20

3505/(Set : C)



(3) 3505/(Set : C)

(e )
(Physics)
1. I8 i o Al O & qege & & orgmd &), Ot a8 69 O € ufed 2 ?
? 1
INBRIGRIEES
(B) g
(C) (A) T (B) &Hil
(D) =™ q B 7l

A person who is unable to recognize different colours suffers from :
(A) Cataract
(B) Colour blindness
(C) Both (A) & (B)
(D) None of these
2. YA qY G & G, G & TR S BN B B G A H- R
% T Jhol B & 1
(A) T T (B) e 3
(©) (&) T (B) & (D) & § g T
At the time of sunrise or sunset, the cause of reddening of Sun is due
to the scattering of which rays of light ?
(A) Red rays (B) Blue rays
(C) Both (A) & (B) (D) None of these

3505/(Set : C) P.T.O.



(4) 3505/(Set : C)
3. Tl oy & T §9M A B ARy FET B © ¢ ]

(A) TE B AAE T
(B) THhH AT HIC & & T
(C) W & TP W
(D) IUH GH W

The resistance of a uniform metallic conductor depends on :
(A) Length of conductor

(B) Area of cross-section

(C) Nature of material

(D) All of the above

4. 8 QT H FAE q R W ..ooeee T STYHIT AN B A THAQ GHT &ai

(©) (&) T (B) A

(D) & & HiE T

When a plate is dropped from a height, at the time it hit the ground,
the maximum part of its ........ is converted into sound energy.

(A) Kinetic energy

(B) Potential energy

(C) Both (A) & (B)

(D) None of these
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5. TT ol 41 &kl & ? i auie it 2

What is wave energy ? Explain in brief.

6. [l 6 Q % Ufcigwd ¥ 125 J S UG &S S & W 21 gfkgs & R
W fa9aid sma i p)

A 6 Q resistance emits heat energy at the rate of 125 J/s. Find the

potential difference across the resistor.

7. A9 GO B g9M % T A9 JHR & RS Qwg F dF Egg gAr e
%9 IR (Reduce), J: =H (Recycle) AR g7 I@N (Reuse). “G: I
1 qU foR | B
You must have come across the three 'R's to save the environment :
Reduce, Recycle and Reuse. Explain Reuse in detail.

8. (a) 9 ¥ &9 T BN 7RG W P TH S (1D) HHA P GRS
T 2

What is the power of a Lens ? Define one Dioptre (1D) power of a

lens.

(b) HI3 TE AT U H ThAT DR (o) W R 81 39 a8 & e & Raf,
AT T 9 ® J@eH & R &9y 2
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An object is placed at the centre of curvature (¢ of a concave
mirror. Draw the ray diagram to depict the position, size and the

nature of image formed.

9. TF YR [9Ed 4RI (a.c.) S & foid, @1 o1 SR & g aoH
it 6

Explain in detail, the principle, construction and working of an
alternating current (a.c.) generator.

HYqT

OR

(a) TPl B Yoo & AR AR FIbid & J@SAT Pl AR i
2

Draw the magnetic lines of force around a bar magnet.

(b) URFICRRT | SMUH F AHE T ? UF URANeRR § Faed fOEM 4R @
PR S~ GIhid & bl ARG B IRANR & ST WA I
WI 4

What is a Solenoid ? Draw the magnetic field around a current

carrying solenoid. Also mention the use of a solenoid.

grs - §
SECTION - B [ Marks : 19
(vam )

(Chemistry)
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10.

11.

(7) 3505/(Set : C)
RIGIREIN

2AgBr(s) 2Ag(s)+ Bry(9)
SR & T AACHAT H ITT B R 1
(A) afET |

(B) M-93q B |
(C) AR P THAl B A
(D) HEROT F WP & T

Sunlight

2AgBr(s) 2Ag(s)+ Bry(9g)

the above reaction is used in :
(A) Welding

(B) Black & white photography
(C) White washing walls

(D) To prevent corrosion

T P W HORAT H & B [T 5 AfeTq ARS H ST BT 8 ¢
(A) NaHCO; (B) NaOH
(C) Na2804 (D) Na2CO3 . ].OHQO

Which sodium compound is used for removal of permanent hardness of

water ?
(A) NaHCO; (B) NaOH
(C) Na2804 (D) NClQCO3. ].OHQO
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12. =1 & & frd a & g 9 B ¥ g dietbar B9 § AN saeE E 0

(A) TafRE (Si) (B) UcgHIEA (Al)
(C) F=IREH (Mg) (D) QfTH (Na)

Which of the following element has a total of three shells with four

electron in its valence shell ?
(A) Silicon (Si) (B) Aluminium (Al)

(C) Magnesium (Mg) (D) Sodium (Na)

13. S qle B B B HO F® & (9o J A S 8, O GaET F: T F T
S 7 g6 fw wEEn a9 i 2

Why does the colour of copper sulphate solution change when an iron

nail is dipped in it ? Give chemical equation for it.

14. TETIRT AR 1 3 P& F&Xe R 2
What is neutralization reaction ? Give one example.

15. Fiiiad deil § @ oigel @ Suaget B T 0 2
qifeqq (Na), Rl (Si), TR (Ge), fRRE (L3).

Identify the metals and metalloids in the following elements :

Sodium (Na), Silicon (S7), Germanium (Ge), Lithium (Li).
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16. (i) = @ IR HT - 2
Define the following :
(@) B
Mineral
(b) I
Gangue

(i) TP cIffpamet & MU TEme aHiee Mg @ 2

Write the chemical equation for the following reactions :
(a) SET Bl AY & A

Iron with steam
(b) BT N IT B Y
Calcium with water
17. () =9 & G [T o s dEar [lRa i 2
Write the formula of benzene and draw its structure.
(i) FOR AR Ig @ 7 IR WL i 2
Differentiate between Hard water and Soft water.

(iif) T B IR Ff fapa fear St & ? 2
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How and why ethanol is denaturated ?

AYqT

OR

() HET @ D AR B I AHR AR F foF & w9 7 A
ST 8 ° 3

Why are carbon and its compound used as fuels for most

applications ?
(i) UANEH ST B AT QHieH T F Had & ¢ 2

Why is Ethanoic acid named as Glacial Acetic acid ?

(ili) foem THEtS =7 FE 7 1

What is Vinegar chemically ?

gug -9
SECTION-C [ Marks : 21
(S fastm)

(Life Science)
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18. fr=foiag & @ fFed CFCs &1 IWANT fhar T 2 7 1

(A) ThiSeX #

(B) A= H

(C) (A) X (B) T &

(D) T & FE Tl

In which of the following CFCs is used ?
(A) Refrigerator

(B) Fire extinguisher

(C) Both (A) & (B)

(D) None of these

19. fr=fafad & & fhe ae® &R TRYUTT §O= il © 7 1
(A) a1g (B) It
(C) wrf (D) ¥ =
Cross pollination is achieved by which of the following agents ?
(A) Wind (B) Water

(C) Animals (D) All of these
20. frfofad § & Si9-d 9 SHA o doEd aNf e &l & 7 1
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21.

22.

23.

24.

25.

26

(12) 3505/(Set : C)

(A) Sfdg (B) WEg

(C) sifages (D) ST

Which of the following gland secrete both hormones and enzymes ?
(A) Thyroid (B) Parathyroid

(C) Adrenal (D) Pancreas

RreRfe & o1 & & 7 1

What are the functions of Gibberellin ?

........... T g4 ¥ AN Al T @R § g Bl GRE T H 2l 1

............ layer shields the surface of earth from ultraviolet radiation

from the sun.

FJod FI B 8 7 2

Why does menstruation occur ?

BRgl § e N g BT 2

Describe budding in Hydra.

SYRAS & 1 HY B ? 2

What are the functions of forebrain ?

dedl & TN @ %4 G = AR o wod ST A A 8 P 4
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How do Mendel's experiments show that traits are inherited

independently ?

27. (a) HNd U dF & AT =E SR 3

Draw a well labelled diagram of human digestive system.

(b) TET @ G BT M auN ST 3

Describe the process of digestion of fat.

HAYqT
OR

oISt A & 7 g8 e YR BIeT § 7 g6ehl AT Y{HH § ¢
6

What is transpiration ? How does it take place ? What is its role ?

3505/(Set : C) P.T.O.
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o FTT-gRTE # SINFT FF ST T TE AN ST FRITFEATAT & 7 ST forar
F7T T He)

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
o gdiEreff orger U To FIT-UF GT 9fFeT [rE)

Candidates must write their Roll Number on the question paper.

o FyI 49 & v 37 @ g4 98 GAEd #W T [ geTvA g7 T @8 8, qoer
T $ T 7 g A T @HX T8l AT TR

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T R -

General Instructions :
() G g9 ST &

All questions are compulsory.
(ii) TGS F97] % Tel [y [
Write the correct option in objective type questions.
(iii) @ T a7 F97] F SAAE [T B T &
Internal choice has been provided in long answer type questions.

(iv) FAF F97 & 7% I0% 7T 09 T &1

Marks of each question are indicated against it.
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g -
SECTION - A [ Marks : 20
(e fomr)
(Physics)
1. Frepe-gfe A & ReE 78F 3 1
(a) Fpe B gl
(B) T N T
(C) (A) T (B) &N
(D) T8 § P &

In Myopia, a person can not see :
(A) Nearby objects

(B) Distant objects

(C) Both (A) & (B)

(D) None of these

2. ARM ghieg o fefad gEnd & Je RO § THST H

(A)  STYaaH (B) WEcH
(C) (A) T (B) &l (D) T & Hi3 &

The main reason behind the advanced sunrise and delayed sunset is

the ....... of light.
(A) Refraction (B) Reflection
(C) Both (A) & (B) (D) None of these

3505/(Set : D) P.T.O.



(4) 3505/(Set : D)
3. ffafag & @ d9-a1 97 favaia] & 91 % o Swa § @ o © 7

(A)  emiex
(B) dicedeX
(C) (A) T (B) dNf
(D) 79 | B -T&

Which of the following can be used to measure the potential difference
?

(A) Ammeter
(B) Voltmeter
(C) Both (A) & (B)
(D) None of these

4. THE $ oM W TEENE Holt dRaiid ol o § ¢

A) FHET et A
(B) YHIT FHeit A
(C) (A) T (B) & H
(D) 3T & Hi3 Tl

During the burning of a candle, the chemical energy converts into :
(A) Heat energy

(B) Light energy

(C) Both (A) & (B)

(D) None of these
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5. Sl & A&t ©fi F @ T BN © ° 2

What are the properties of a good source of energy ?

6. 20, 3Q T 6Q & URITH B fhE JHR GARE R S & dSH & Fa
gfRET 1Q & ? 2

How can three resistors of resistances 2Q, 3Q and 6Q be connected to

give a total resistance of 1Q ?

7. O QR H TEM & U AN SER & RS Awd d q1 e@sd A onm
2

%9 WM (Reduce), IH: T (Recycle) AR 7 IWM (Reuse)| “TT: 0T &l
g R |

You must have come across the three 'R's to save the environment :

Reduce, Recycle and Reuse. Explain Recycle in detail.

8. (a) ¥3 I& U o & &I b (F) T THE 5 (O) % 74 R &1 34
q6] %l Rfd, TES T SR F @S R 2

An object is situated at a position in between the main focus (F)
and optic centre (O) of a convex lens. Draw the ray diagram

showing the position, size and nature of the image formed.

(b) oG & ewar FM A 7 7 FRH d9 @l T SEieX (1D) el Hl aReiNd
it 2
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What is the power of a Lens ? Define one Dioptre (1D) power of a
lens.

9. % fEd MeX & Rieid, W qu Ay & fegd oo @ik 6

Explain in detail, the principle, construction and working of an electric

motor.
SrerEr
OR
(2) foga oRudl qur @fesl § @ SWEN BN A & g SuEl & AW
fofg qen Swe FEfafy TwemET) 4

What are the two safety measures commonly used in electric

circuits and appliances ? Explain their working.
(b) [l B g% & AR AR I & @A A ARFeT Hfo)
2

Draw the magnetic field lines around a bar magnet.

grg - §
SECTION — B [ Marks : 19
(vam= )
(Chemistry)

10. = & q SoAEdr orffhar - B 7 1

(A) DT PEMT H H N A=
(B) R wRES H g4 & YHT q e
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(C) T & & PUE § fqged

(D) T TZeE H HHT & HTHeH

Which of the following is exothermic reaction ?

(A) Decomposition of calcium carbonate by heat

(B) Decomposition of silver chloride by sunlight

(C) Decomposition of vegetable matter into compost

(D) Decomposition of lead nitrate by heat

11. 39 & & TH JaR S FE 9 SRR FE [ o0 S 2 0
(A) BEH (CaS0,4.2H,0)
(B) & &M AT [Ca(OH),]
(C) f&F1 g&1 =T (CaO)
(D) I TR (CaCOs)

Name the substance which on treatment with chlorine yields bleaching

powder :

(A) Gypsum (CaSO,4.2H50)
(B) Slaked lime [Ca(OH),]
(C) Quick lime (CaO)

(D) Lime stone (CaCOj3)

12. 7 & @ 50 9@ & @ @ Hier § T GASwa Hi F A9 g § 7 1
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(8) 3505/(Set : D)
(A) R (B) (B) @& (C)

(C) FEERH (N) (D) ¥R (O)

Which of the following element has a total of two shells, with three

electrons in its valence shell ?
(A) Boron (B) (B) Carbon (C)

(C) Nitrogen (N) (D) Oxygen (O)
13. = Sfishan o foim Fggfer i Eieee fofe : 2

T + B FRES — TGHINGH FAES + HW
Write the balanced chemical equation for the following reaction :

Aluminium + Copper Chloride — Aluminium Chloride + Copper

14. G @ dR B SO F @ @ G e @ e = ?

Why should curd and sour substances not be kept in Brass and Copper

vessels ?

15. G9ENE F1 Bl & ? U Sami dfm p)

What are Isotopes ? Give one example.

16. (a) &M X 9o & o W FHif 2
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(b)

17. (a)

(b)

()

()

(i1)

3505/(Set :

(9) 3505/(Set : D)

Differentiate between Calcination and Roasting.

g aigell & M qaRY S FY < A TR bl e wX I o &
gIQY S Q@ el H F| 2

Name two metals which will displace hydrogen from dilute acids

and two metals which will not.

e AT G ST fh8 & & ¢ SV Hied GHHEul 3
Define the terms Hetero-atom and a suffix. Explain with examples.
CH,Cl ® oty FHOT @l ST &Y deadiete oy & JHd aiemgyl 2

Explain the nature of covalent bond using the formation of bond in

CH5CL.

AEFAedas H AT R Sk 1

Draw structure of Cyclohexane.

AYqT

OR

TS GHEId § 9 F1 G © ! T IasI Ay 2
What do you mean by structural isomers ? Give one example.

I I T Sig a6 7§ 9 HA-9 @ 8 AN #@ ¢
2
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Which is good for health — a vegetable oil or Animal fat and why ?

(i) feewle FER o ¥ ff ywdt 4 &1 feueh Fhifdmy

Detergents are effective in Hard Water also. Comment.

gug -9
SECTION-C [ Marks : 21
(sfrar fem)
(Life Science)
18. Freifefad & & S-ah oy ofs S i el 3 2
(A) ST (B) fegTH
(C) drgy (D) wEg

Which of the following gland secretes growth hormone ?

(A) Pancreas (B) Adrenal
(C) Pituitary (D) Parathyroid

19. fFr=fafad & & fred Sgesd 2 8 ? 1
(A) ot | (B) weAT~ET |
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(C) (A) X (B) & (D) weHEieay &

In which of the following multiple fission  occur ?
(A) Amoeba (B) Leishmania

(C) Both (A) & (B) (D) Plasmodium

20. frefatad § & HE-a1 A qed @ gha § HeEd & 0 1
(A) e (B) FreRfe
(C) HREIEHT (D) ¥ gl

Which of the following hormone promote the growth in plants ?

(A) Auxin (B) Gibberellins
(C) Cytokinin (D) “ All of these
21. P & B B A FE B 7 1

What is the function of sperm tail ?

22. EHAMNEY H TG o T gam 1

Origin of Homosapiens occurred in ............ .

23. AN [ & AT & e el d 2
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24.

25.

26.

27.

(12) 3505/(Set : D)

Write down various tools which are used to study human evolution.

“qiitas &SI w1 JAE U & f&em & & 87, avie i) >

"Flow of energy is unidirectional in ecosystem", explain.

3l A RIS & He SR ¥ 97 Bar § ? 2

What happens at synapse between two  neurons ?

fafar & #ew @1 aUiH T 4

Describe the importance of variation.

IS T & ¢ ARG G B HER § g H WA B A HW 6

What is Excretion ? Describe the structure of nephron with the help of

well labelled diagram.

AYqT

OR

oild 31T Ao f5E U U1 &< & ° 6

How do living things get their food ?
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